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5.3 " 3]3l9] 7]4=-Cantor Theorem

BT (2): X#¢

T g X = P(X)E tha¥ Zo] B 3ak:
g(x)={x} VvxeX

ge BAolBRZ X ~ {{x}|x € X} CP(X). wa}A
cardX < cardP(X)

olth. o] A cardX # cardP(X), &, X £ P(X)YE Ho]A}

X ~P(X), F, AA £ X - P(X)7F EA3ern 74437,

A3 S ={xeX|x¢&f(x)}S A7t}
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o] 2
A= 29 5 A% A B 7148 27 2, bt 2 1,
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o2 & AolH ol Ant

a®}t b7} 7158 3FAE (C-1)9f 93l cardX = a, cardY = b&
TEet= A X Y7 2T v XN Y # ¢l |,
A=Xx {0}, B=Y x {1}o]g} 2. 8™ AnB = ¢,
A~ X, B~ Yo]|2Z, cardA = a, cardB = bo|T}. 1B E=ZE
a+ b=card(AUB).

T3 a+ b= S A5kt 9 uEStYH, cardA; = a, cardB; = b2l
N 429 = A3 A, Bo] EATTHA, A ~ A, By ~ Bolth.
I 479 A2 60 &t AiUB ~AUB.

JHEZE card(A; U By) = card(AU B).
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(a) e BEGE A= 49 T A3 A B7F A Ak

cardA = a, cardB = b.
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Ao ge Fel 39 EH.
g%l 3
a, b7} 7| spAk aEH
(3) g WEeE N2 29 £ UT A B7L EA Bk
cardA = a, cardB = b.
(b) cardA = cardA;, cardB = card B,
ANB=¢, AN B, = ¢o|d,
cardAU B) = card(A; U By).
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T R 4,39 719 & 4432 Pt )
=9

A =N, B={5,6,7}]2 s}z 12w

cardA=4, cardB=3, ANB=¢
ot} 1¥r=E
443 =card(AU B) = cardN7 = 7.
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@ cardR =¢
o A 3
714-9] 3 Ro + Ro= 3k 2} |
=

Ne ={2n|ne N}, N, = {2n— 1| n € N} 2} 32k
I3 N. NN, = ¢0] 22 NoUN, = No|t}. I3 E2=Z
Ng + Ng = cardN, + cardN, = card(Ne UN,) = cardN = 8. O
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o A 4
7142 3 Ry + ¢ F3fol 2}

Z o]
(0,1) ~Ro] 22, card(0,1) = cardR = ¢ |t}
S=NuU(0,1)o]2} &2} NN(0,1) = ¢°]7] W&o,
cardS = Ng + c.

33, R~ (0,1) C So]iL S~ S C Ro]7] wj &,
Cantor-Berstein Theoremol] &]J&] R ~ So|t}. 182 =&

Ng + ¢ = cardS = cardR = ¢
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